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Prob. 3-6A
1. a. Accounts Receivable ........ccccccoooiiiiis i, 8,000
FeesS Earned ..........ccccoviiiiiiiiiiiiiiiiiees e 8,000
Accrued fees earned.
b. Depreciation EXPense..........cccceiiiiiiiiiir cevvvieiiiiiiinnnns 5,500
Accumulated Depreciation—Equipment........... 5 ,500
Depreciation for July.
C. Wages EXPENSE........civiiiiiiiiiiieiieiiiies e 2,500
Wages Payable.........ccoooeiiiiiiiiiiiiiis s 2,500
Accrued wages.
d. Supplies EXPENSE ........ccooiiiiiiiiiiiiiiiii ceeeeeiieiiieiianaes 1,725
SUPPIIES ..o e 1,725
Supplies used.
2.
Total
Net Total Total Owner’s
Income Assets = Liabilities + Equity
Reported amounts $ 99,480 $400,000 $100,000 $300,0 00
Corrections:
Adjustment (a) + 8,000 + 8,000 0 + 8,000
Adjustment (b) — 5,500 — 5,500 0 - 5,500
Adjustment (c) - 2,500 0 + 2,500 - 2,500
Adjustment (d) - 1,725 — 1,725 0 — 1,725
Corrected amounts $_97,755 $400,775 $102,500 $298,275



